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2. o2 Io|4 oABCD += Attha]&Eolth. AABC = 80cm? , ADOC =
30cm? ¥ ], AOBC 9] ¥lo]=?

A D
0)
B C
@® 20cm? @ 30cm? ® 40cm?
@) 50cm? ® 60cm?

AD//BC o]B=2
AABC = ADCB = 80cm?
- AOBC = ADCB - ADOC = 80 — 30 = 50(cm?)




3. theo ‘WAApAFA £ Aol o] Aol 77t et & 21
Holt}. o gtol] SolZ AL 222 Lresh?
A D
B& C
7} OABCD oA AB // DC, AD // BC

7]

2] AB=CD, AD = BC

] A B9 M DE 0] 2% AABD £} ACDB 4]
AB//DCo]2& /ABD = /CDB (37} -- @

D//BColB& (ADB=[  |(97)
[ Jee5--®
A, ©, ©°l 9814 sAABD = aCDB ([ |35
CD, AD = BC
@ /CDB, BC, SSS @ /CDB, BD, SSS
® /BCD, BC, ASA @ /CDB, BD, ASA

@ZDBC, DB. ASA

AABD 2} ACDB of| A

AB//DCo|2= /ABD = /CDB (312}),
AD //BCo|2& /ADB = /DBC (%97}),
DBE 35 o]22 AABD = ACDB (ASA &%) o]t}
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6.

AW E@ ABCD o] 4 EF//BDolth. AABE = 20cm2 % o,

AAFD 9] Yol & ofofa},

D

A
B E C
@ 16 cm? @ 18cm?
@ 22cm? ® 24 cm?

3)20 cm?

DE9}BF & 10
AABE = ADBE = ADBF = ADAF




7. o3 1™lA sAABCooaDFEC|th. DESF DF 9] Zol& a, bE
ARgRE Ao 2 vebd A7 (T, LA =/D, B=/F)

(@)DE - g(cm DF = £ (cm)
@ DE = b(cm), DF = 2(cm)
® DE = g(cm), DF = a(cm)
@ DE = b(cm), DF = a(cm)

® DE = 2b(cm), DF = 2a(cm)




e 139 AAMZHY ABCD oA AB = 6cm, BC =
5cm ©|th. PQ 7} thZHd BD € 2ol EY I, PQ
“FobH?

A P D
\
\
\
5cm” 0 6’cm
7/ 1
/ Q /
B--gem---"C
1 2 2
@ 13Zcm @) 13zcm ©) gcm
@) - om ® 5o
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ABCD ¢} ABOQ °]1A4

/BCD = /BOQ (-~ A7)

(0BQ = 35

. ABCD @ ABOQ (AA H-2)
BC:BO=CD:0Q°|E&28:5=6:0Q




3 Z|AHZYg ABCDE W24 BD & F+
o, EF ¢] Zo]=?

@ 7cm @)7.5cm ® 8cm
@ 8.5cm ® 9cm

MO g sl

~&B

DABCD & Aol B R

AB=DC =C'D =12cm, AD = BC = BC’ = 16cm
i) LAEB = /C’ED , /A = /C" =90°

AB=CD

. AAEB = AC’ED (ASA 3&)

i

,_x

BF = —DB = 10cm

iii) 2C’ BD% 3%, /EFB = /DC'B = 90°
..AEFB ADC'B (AA E9)
10:16 = EF : 12

—— 15

. EF = 5 = = 7.5(cm)

gtEol = rgo] 2oz EB = ED ©|2& AEBD
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